Chapter 2 Compound Interest

CompounND |NTEREST.

EXEECISE- 2.1

Solution -ol.
PsinciPal fos the £ixst Year = F 8,000
2R ,000 % S¥

Tntevest fory the pivst Year -
loo

= FYoo

Amount after one Yeary = I B.000 +FYyou

= 22,400

Trtervest Hfoy the Second YJear = AF,Yoo « 5%
oo

-2 Y420
Arnount afley Sesond de.q‘f

1

*5%,qac>+ Fy4y20
= 7],.820,
compound TInkevest after o Yyears = final amount -
Pvincinl
= 3%.820-Fg§,000
=3F330.

Selukion -02.
Erincipal for the fivst Year = 3ye.g¥s:
Ralte of ‘intevest - -

(b Tnkevest fos the fivst Year= THEBFS %y y|

Nale)
= T lx3FS
Amount afber one JeaY = Fye. 75+ 1¥IS

= 248, 50



(i) interest for the Second Year = T YB . F50xYy ¥|

e

OO0
= 21950
4he amount stonding 4o his credit abt e end of
secord Year = ¥ Ya,F50 ¥ 1,950

=

- 2 50,7F00.

(") Tnlevest for the Hurd Year = TS0, Foox Yy |

oo

—

= 25074y
= T2,02%.
Solution-03.

princiPal for bthe fivst Yeoy = a3 q.000

Ralte of Intevest =10

Intevest Jor the Fisst Yeax = S B,0004 \OF |
L \loo

= TR,00
Amount atter one Year = Fa,co0tFgoo

= I, Bo00

j_ﬁl;e-s-ﬂs{ feor Hhe Second Yeol = %?EL.%DG £ 1O )

oo

= FIRR0.

Prnount afler Second Yeal = TR, %00+ IRGo

= 39,650



T 9,680 X1O% )

‘oo

lrw,"cgreg': tor the Hyivd Year =

= @468 -

Sum due at the end ©F e thixd Year - 39.¢a0+ 36
= 310,648,

Solution-o4:

PT'Lﬂc_".F‘Q1. for Hhe divst ‘3&'&%‘ = 1, 28Bo00

Rate of Ankerest - 1o

Inkeveel for the Hivst year- T2 .Boerlov)
oo

= 3l 280

(17 Aroounk ab the end of First Yeax T2, 8004 Fl2%o

1

2 4, om0,

) I‘nl:;ff"fﬁ'51: +orv the Second Mear = EE"IH,CJ'ECJ;(IQ:.H
—_-_-_-_-—-l—__-_
leo

- Q"IHD‘&.

Arnount at the end of Second Yeay = 31y oe
! o+

< ].fl"FD‘E-
=T i5,4]q.

tntevest foy the third Year = 15,488 x lox)

\oo
= F\54%. 8.
giy he total amount due 4o dnim gt the end o¢
| three Years - Fis,yea+ Fisus. s
= FIT, 9365




Iﬂ#:'@i"h'ﬁj;'i: tor 2 Hears = 21280

= Pl DL

= 213280
loo
= 24yi= L138000
=2 suamm of mMmoney = EI*E%JGGD
=y
= Tsutso.

Principal fot the fizst hall Year - 3¢ Isa

Intevest +tov tnhe fixst wals Year = 3 g FSO% x|
&

-_.._-_____-_-_-_-—-_‘
Na¥s)

= 2 SF.Sy,

= ¥3ys,

Amount after the Lixst haltd Yeay

= 25,3504 Ty

= 2609s

TIrtevest for te Secord half Jear = LCOq5xgy|
.
\co

T 60.95% ¢

- 3 36 =P
. :Dmpgqnd 17‘11"-"‘(951‘ on this Sum for oGne N eay Pb.ﬂ.::_.l:,ig

holf HEﬂTLH abt thhe Some watle - -Q'EHE ¥ Tag5.

= ZF 1lln.1n



Splution -06 -
P‘h‘ﬂl"‘lﬂﬁ F’Cl.i for H.e —FLES{‘ UEC[T = 1,000 .

Amc:uﬂl: afler one Yeor = 3 1l,2.00

211,900~ Flroao

2 ‘alr::n:u

Robe of Interest for the firel Year = ¢

Tnlevest for Ehe {:‘-FE*L‘je:xr

1

Talevrect For the firsh Year = 10,000% 74|

len
N \&;gsé x\bd o
\dpdP
=) A= 18
Tntevest +for the Second Year = Qg 19 x|
______-_-———__
Ir;ﬁ?ﬁ
= T laxie

= 2134y,

Amouﬂ}f ﬂ'l? "H"‘IE Ef‘}d of S‘ECDT‘PCI UE::]_T': = HJQDD'}QLBQQ_

- Q 'H'-Q,r Et‘foL
solulion-0F
Pﬁrﬂjpml for the '1?!'“5511 %’EQW:EE,ODC:_

Avnount after one year - e, s

Tntevesl for -E:'I'fsl Hear = 3 & £oo- &
. 5,000
5 25,08p% LY

1;‘555’ - F€Eoco

= & s ;x:ﬁgw

(D = Rate of Inlevest = 19




(i IT‘}L‘ET&’E‘I acuved n the Second Year = ?Mzﬂ
oo

=613,

| aftes second Yyear= R 85,6004 3 €12

= 26,278

(1) In Lesect forw the thivd gear= X 6.272 %1y |

Do

= FEH. 14 x12

= R7186y
Amount atter third Year- zgaqq 4 2758 4y

=@ 1,08Y4-€4
SGI.“I:’ID“ -0
principal for the dtirst Year = 39,000,

Lals
Intesest for the #ivst Year - E%DDU“;’”

leo

= 22,000%2

S0
= 21O
Amount afley Livsl Kals
Yeodr = 33 600 FFo
' o
= 2100
Iﬁla'Efes.L For bhe Secand‘ Jﬂa;l:.‘-—ubt%: 5.,‘2;9{}11;5!-:1'
(N .
- 3209
Aamount afley J Beond 4@&-3
€y = 23900 + g
' )
. = 3_3‘7&05'



|
Inlevest fos the Second-haly 27 Yean

_ Qéafisi1

= 2 lal

. compound dnkesesl afler 2 Yeons . 2200+ 2820

+ 2 1al
= 254
Awmount o be Paid QFI—E’T-E/IQ Year s - %Q,00043 ¢y,
= R84
solution-09,
Principal for the first half yeay - 2 50,000

Interest for the first halt Yeay - T 50,00 %y,

'-.__—-l—'___
oo

= 32,000,
Amount atter bthe fivst half Jear = 2 50,0004 33,56,

the S€cond) hﬁl-f?ﬁe:::f =

Intevest Hor e SCcond hal¢ Year

N e D¥
FRADEIfY, . 2 59,000

= 2532000 vy |
*-_-‘_-———___
loo
= Zsaoxy
- 2R3080.

Armount atter the Seqond half deay = 59,000+

28080
=54y 080,

Principal for thixd Year : 84,080



Solubion- 10

Sven that A=9261, n=2 4e=s

_ LA
A= P(*’r-ﬁ}‘)

q261= P 1+ _Ej
_ 3
26\ = F’(h+5_'~_o}

Q2E\ = P2 }3

qléliiDiﬂDi&g

— R
:“71,1151111. =

. P = H2sviocg

—_—
PT;'”C]P‘?-}- = 8§ B ,000,.
Solubon-1y !

&wvent that A="1,203, N=2 ,5=9q

A= F(Hl

™
IDD)

1_
TS0z PL 1'.1,_}
Lo

1|02 = P( H_:E:\’L

T80 = pLs\ws)
-___'-__—-—-_
SoALsSO

T T 2599

-0 -} P:'T,EGD-



: = ZSYoapwyw|
Trktevest for tre third half Year h_hrii%__‘

= = SHo.gxy
= 2 aigza

Amount after third bald Year = 36y 0gor 39 1620
= -{ gsp'gl"aﬂlo.

Compound -*'—‘l“rl‘ETESL‘ Lfor l}g tjej:;\f'._:.. = g EEIQL‘IE-EEEJ{};&
= 6243
solubion-l1o:

PoinciPal amount for ihe +irvst Year - S ,000.

"_Cﬂl-é‘ﬁfsl‘ four -I:he -Fi"eral: Hé:qa = EEJDM &x\

oo

Ammount afltes H=si Jear :ES{GGD-**EEGQ
= 25,200,
Interest for He <second YJear = R5,200xay
oo
= I S2vg
=424

Com pound InLEras-I- for 2 Jears = Is, 724 - 25,000
SZT7ay -



on- 1 EIHE = ", 000 .
Solultio 1 far b Hogh Yeor = 3
P¥incip

fo = i OOX 10w
L for be first Year @19;.- ETD_
~ O
Inkteves i

oy
= R1po .
b abter fiyst Year- 517,Dc=o+;5:.7u:-
O
A = 319,706
%) 1oy, - Elﬂ,jﬂﬂ}im’:‘
the Second(‘jea‘r A,
Intevest fov loo
*2L,2%0

Amount atter second Year - 218700+ 31810

Iﬁ‘L’ETEE{ 'F"D‘ﬁ' ‘L_’ne 'C"n.'l‘ﬁ“d HED_‘T @ ]L,".L -

1{;0;5#:311% )
oo

L 879.%

Fl

I

Amount apter Hhivd Jdeax - %:‘QO:ETD +3=‘\)E€y_?.ﬂ3

T R e Hygae

23.4yq.q

CompPound Inteves!d afle, three Ejeﬂ_ﬁ;__

23,44 9.

":l.JGDCI-

= é:;:-ft]icl*ﬁc



SgluLi‘ﬂﬁ' 12

PT’IHCTF’DJ_ for the 4irsh Year = 29 600

Ink : | =
nkeregth for the fivst 'deqr = Emﬁ|3¢j{]

1 4¢
= 2960,

Intereglt for the serond ‘cjequz 2\0,5€0 \
_ / A0

d_-_-_-_-_'_‘—'—-—._.___
loo

- R,08¢

Lw"ﬁ Suym C:l.uf: C’u'l: the E\"H:l of S€rond Yeay - 3 0, Se
= E o

3 ,05¢

—

= I W, 626.

LY CorPound  Interect Earned "hlt}&:ﬁs

W) X
§ P diff of (1 omd (i) - 1,626 - |
# = D"EEG

= 39 loSe6.

ankevest for d.J‘F-FETEnce 0+ amount fos one

:b'f_-ﬂ@] = E'{C}Sﬁkfﬂil
lopo
= 2105.£0pc



y y
d anteresl for third Jead - 3 10564 Jlos
R =51 E&l.60.

Solubion-13 -

Simple ontevest on certain money FOY 2 Yeqmy

@ wir s = |,600

= A= G,000.
PrinciPal = F &, 000,

Intevest Hor the firgt Yo = 7 S.000% lox |

-__-_-_-_-_"‘"-—-_.._
loo

“2R00.
A rnoun 4 "Lﬂ be fﬁl‘Fd aofter One {'je'ﬂﬂ = ?E.DDDFQ‘%&GG

= T8.,800

Intevest for5 the Second Je = IS.Beoryg
e
Co




Amount after three gear - 9,680 4 2 qar

Compound Interest for Hsee Hear- T aan + 5% Qn

+ I 9¢¢

= F2648.

EDIL\HDﬁ—lLi:
principadl for the Fivst Year = 26,600

Trkevest for the firat Years EE*’—Q—?E,"E’”
oo

=Z 300 .
Mm“{; k{l{-h—&‘f Hvet bECkf- = EQJEQD
Mon€Y Tepoid = § ) a00.

Principal for the Secord Yeqr

= 36,2p00-1200

e

- EEJ.DD

Tnterest for e Second Year = 55_:%5;: |

19
= TaAges .

- Pryieret Amount after Second HYear

-

* 2S,1c0438¢¢

- Is.acc

* : . _
A;J\%fandinﬁ at Lne L:&fj,'qmnj' of Hrd Heey

—F e, 25T ~\20>
= F Y \SE .




Solubion—15:

Principal for the fivst Yeav - 3 o000

TIrvevest fov the Hvstyew = J1,0000px iy,
__-_-_--_-'-——
l¢¢
= X 1,000

Amount after one Yeas:= =
= \.Co,0n0+3,,
’ 006
= 2 L ooo

Monewy TEP::J::E ofter one Qear=3 Yy |,00
4 o
el pal Fov Second Jeav = 3 WLooo - 34 o
P'T LR r::ui - 2

= X 10,0600.

Trkeveck for bhe Second Yeor = 330 0pHXIK
loo

= 1100
Avrcount ot tey EE.C.-::HC'! ';jga"r: 3 3 0,000t7,7Fw
= =2 171,F00,
Principal for trird Y e =F{qqn504;{q7;190

= L 30,000

—
—

[ Poout o000,




solukion —-16 o~
solubion -16

PNR

loo

Simple Tnkevest =

— Zo,opPx 8.5%l0

| éd

= X 2004+ 9.5

= 2 5,000.
(’_‘_ﬂmFi‘.ruﬂdle'J _F'c::'f‘FT_'IEﬂC]

Trkevest Hox the first year . ZA0,0ppxiLlg
o

= 22,000
Armount after ome Yeas = ZT28000 YT Q00,0
J

= E%-.&J,DGD,
‘Iﬂjcares—l: aftev t\e En‘icr:mc:l Year = E&WJ
Ijajp
= Z,2200.

Amﬂuﬂ-ﬂ atley Second Jeas = ?QQ;DDD F¥39
/ oo

= 2 24,9300,

Inkeves + for second Year € monthg T2y, 206xsy.
"—-_—‘————__

1 oh
- Flalo.

2 Y, 2004 5-2.'}::

= 2540

.8aun = 25,410-25000 =2 ylo

L Total amount -



EXErRCIGE-2Z.2-.
Solution -0\

Vg bhe dotmula, we get

2
A= 55.'::&6(1*1—&0 As P18 T\

106
= -{:,GGG*:&( =

4 GRAB 2, S3AE D
G

I

35044

= F Sye3*rs3

- 7 Vo &% 5>
= 25,61%.
c-T = I 5,6l8- TS,0c00 = FEB.
Solukbon—021-

WS g formule,, we Jet

A = E%.GmLH—HL}H

\od

= %000 ( *f“j

- eiooo( 'Ot
vy
= 2 E.boo[!—{;—)
- %_‘a:lé)dilqﬁﬁ“i”i“f“
P ¥t % \h
R g
- 5% 56M
5 0
= e s

CT - IWNLS- T @aoog = 23,280



Selukion-03:
Since, xate of ‘nkerest pey anrum (s S, thewedore,

Yake of interest Per comvevsion Chalf yeary) = 3.5+

As te money c.urn.rboundecl half Keavly
Nnumber of cenvérsion Pevipds- o

L]

M= P(H E.)

loo

2
= RTyoof 1+ s

= R, 4eof 14 L }L
4o

= 2 'h‘ma( “I_’-'—‘_"“)L

Yo
= E}f%frjpd:x Yloney
Upryp

= T8 .628

Amoundt = 9777 Y-eogps



solubtioNn-04.
Since Toke of inketest Pey arnumiol-, Bheve fore watle
oF ’m{ef ect FPey corveraon = 5iI-

As e ron ey compounded Semn ﬂmuo\.uﬂ,

Nnumbet of Conversion Fﬂﬁ'unc:ia“j = 3

-5
¥ %é#cﬂauamm _a.s ;muﬂlx'll
Fgradrad 4

= 5, 1a%.\2T

< oo POUN, TInkevest = 5,78%.125- 5,000

18a8.125.

1

Solution-065.:
Since , the Talke of ntevest pey 1L manbhg (anmwem)
Brevetare vale of nkeveck Pe¥ conversion = |

q Y

= |y

As the money CompPaund e Yotk

NLnumber of CorVev&ions) - 9
3

=3,

n
= |4 T
a P(\ h:::::)



>
W

3
|.4:}Jr:-c:o( Vi _'l_\
oo

\oooo ( | SO+ f’
lco

\o e |10V X 10V * o]

Do TR 1-:156

I \03030.1D.

]

1]

CompPound Interesk = |03,030-1c -1, 00,000

= F3,030-\0.

Solution -0g:

Psincipal = 4%0c0 ., Nn=2 ¢ R=g

Simele Thnlevest = Ponxe
=Y
= Ysppraxs
5
= I4so.
Po= . %
(1+ h::ch P
= H,%Do( 4+ =
\ OO

1
H,'ac:c;[ 1+J£::\]

i

= Moo 222
= Ly]g'qﬂgmﬁm
24+ A9
= Z\2 42\ 23\l = 5,292 .
€1 = 5,292~ Y,a00 = 492.
S Ditkevence = JYq2 - Iyes = N2 T 51D




Solubon-071:

P-E—'.Lﬁr_i‘:?q_[ = 32,500, N G:ﬁ{i K= 4. Fer armnum

Sﬁmple In‘:eresjc - PYNLR

(oo
ted
= I R00 .

G'wen thal compound Tnlevesl Yecokpned Seml

ﬂﬂﬂuuo-jjﬁi therefore n=4 4 R= ﬁ-r.&;;
a 2 - ’

Az 32,500 14+ 2=\
s

A=p( 1+
= -2.1‘50:::.(|+$ 1
=)
i "
- 2500 (2

= RoecyoiwxsiAsixs)
SOrSOLESOERDL

= 6,165,20|
2Sop
= 2,706.80

Campmnd In'cE’TEe{ = -EE,'TDE--ESD-.,Q s
200

= R,006.%0.

e D]-F-P::tgnce, Ioeiru:}een Sﬁ‘mP]E IHLETQL

I‘ni:ar H':-E-L < % C“"‘-fh-l"'tl

CT -ST = 06O - g
_BE.0%



Solubion - 08~
Eff;"-.l'lﬂn H‘K}.": .

Princ pal for the Hrst Year = FTa ooo

TIntesest fov bae bivel yeny - E},qu:}: %y
I o .

= 3Io-

F‘T\‘I"\E-I‘F'a.l Lfor b-e Second Year = a'&rD%G

Tnkerest fov e cccand
: Yeay = a!ﬁ*’"—{\h‘-i
I
= 624

Compound Intervest = I @0 41362.4,
= 434 4o,

Solukion - oq
A= PLHE,Q(HT c}}tn
= 3;\15(11‘-"‘\ L)(_\-*"‘? ‘)Ll,'aré.
= 3pes (W L [wi){wzﬁ

15 & 13
= 2 THRZEL2\US2

R
Y 3=

= 14,449
"
= 361025 .

ComPound Tnkererk = 3,6171.25-312%5 =T492.5¢




Solubtion-12:
G—l'l‘IJEﬂ{'- that A :|315‘5|, M3, v
g P(Hl n
| o

\326s! = p( |4+ & \3
(]

{o

=\ F'([q,_'l.‘i E

EE = 132¢ <
= p-,,ehr-?‘-..x';]:tsl.
S50 vegrso lelegl
=y P = \Elasiﬁgnmgbuau
S xs|¢ 5)

= P= 1%11‘1}'&{3
-_-_-_'_'_“—--.__

Solukion-13 .

A;P( 1+;_r50 "
= Eafai- Y A&
{ E:::\j

'=F'[1+i§ =

= Przerré
D eLas

CTI - &8E&3a6
Doeyas

a3 cr= ¥

[

{-'j\]._ P = 6&epP-brsp

&




— S,V = S\P

2%

s SN2 Xers
= p

S

=3 = "o,000.
Seolukion -y

B =
1278, p2rv2o00, =\ £ R

1115-&|&no[iﬁ-1bin
You

129s “ \Gm‘éo
\2bd vad®

S %= \2TS

-l.—';— - 100

= 0 e 15

s

| 2
= v = 6.2 /.

cx fov g
econd Yeot = ‘&M.EE

| oo

= 19 6%-0s

| ©O

= T19.6%
C Oy
PEM-'\{:L T rnleves t far Sfﬁanﬂl Y Cey

= ?‘Ea.



Solubion-1g

Gyven Hhat A=2s500, P=230y, n-=2 L @=-9,

2so0 = 220y ( .

LoD
2sooe
:L\-—l o =
;’—30"1 | oo
= leety | esoo
iy loo+s
‘-DD-: 5‘—&31
Y
= oo+ = OOV sO
He
= v = SO0o0O
L["E-_I'DD

=D ¥ = Sopo-Ygoo

—

——
Usoo
= % = &éd.?
hadb
= % = Lo
2y’



Solukion-1¢g -

Siven thalt

A= 2s -
__F: n.ﬂcﬁ’ﬁ-?
\6 ’ ,

= H;P[’k%l\?

(Yl
= g \+‘1G_D31_—, s ?/

| €
+ ¥
= 12erT . \=s
\oo e

= \ootw _

—— F=

=2
LoD Y

=5 ¥ = \WVas-loo
—_ 6§ T2

solukion-\:

A= P[ 1+ 5

LoD
o 3
= 22,¢.1% = 2,000 (“1.—'&;._
Lloo

— 22 5 .15
i — - \oo ¥\ >
..?;;}r::.a = )

oo

= -ii 221525 ooty o 23S sy,
< - ey = :
v 2.000 o | ‘ﬂlbmhf“

St RS T

- looty

2 2 e
WeTg2s T looty

=3 (Los¥ = ooty
t o= T:IOE—lGD:‘E,f



Solution-1g .

Rz 4R62025 , P=Yyg,000 , ¥v=

M0

A = P(.-1+1

oo

S 4S,620.25 = '—ID.DDO(“’E
200

1004 R\H
= DO

Ho,o06

.
> [ooredT] -

4 oood

N ,
= (Roo+RY = if[ (220 9Y( 5003
= Roo+R = 'I 200 9842

1L
o
I

2Y0 -9 .00

= R-ley

Soluron-\q !
QT A - 2186
'E F,.r h:?!l.-
A=P(i+T
- \oOo
= =214
- RS\ D
\1§’P P‘(H
= "1130"‘"":%_1*;
\oo© \og

= \oots = Exloo
=

= T= \2Lo~-\100 = 2.

M= ALY =y

H2.,620-25 ¥ 200 20042065 cp,



- Rake of inlevest - 90y24

= Yo

Solukion-20

aiven 4hat A =8Q200, P=%G.Doo_n:=;_

A= P Hz;f-
\oo
=) w _ ( lbo+ ¥ L
So004d oo )
amtﬂia- N oo
=
=  2\1xX1o4
=lco+tY
oy T
=% ¥ = \og -\oo
=" i S
Cryncipal _ fB260

cT = B%,294x 1t s
Lq:q;
= ¥R v g

= 410

Amount o be Paid ad ter 3 Yeare = P4 r"-i

:.Aggﬁagm_

:‘-'ﬁlzglﬂ



Solukbion- 2\

Let the wale of Compound intevest be . PeY amnum.

The amount aflkers will be the PFincipal 4ot e

trivd Yeo
= &ss€ So - ﬁlq1[1+i
¥=ls]
= \4+ 3 _ sssé6o
L Saqa
= ¥ - 8s5S6-60-S529%
\oo e
&9
= = DELHEO
S 292
= W= &9

SSS 6
=29 0

2604

Lo The Tﬂ.l:E" of Co mPolmnd Inte_res,!c =5/ PET ANNum

QEZ‘”‘F’(&%E o
oo
= Px 2\1xa)
Lovdo = S2a%

b ) P:

= p-

Elql}f\qﬁr_,

_\_-_-_-—-—-—.-

HY

\&“Huc

= P:i‘ﬂ&u-: .

2 r;;rf'ua}‘mqj\ Sum s 3 Y.806



Splukion -2.9 7.
ek the vake af comPound Irntevest be ¥, Per anmum

The amount afler 2Years (51 be the Principal for

e qﬂ“ﬂeav
=" FTIB-4 6 = T198.¢p [ 1+ T
To0)
=Y S12-46 . loo4y
1g% .60 loo
i, ¥ = 2718-46 -199.406 E78.y ¢
L _—
19.2g
-_-_-—-____,._I
T19%.66
) T = 1o 4,
- The vake of ComPound inkeyeck = loy.

Pev armnam
Let bthe oviginal Suw be p.

3 ﬂ%-srp(u o\
oo
= 19%-¢ - Px X b0
o 1o o
= 792364 \e0am

_—
b2y = il g

-_-—-—___
2=y

=2 Pz- €so.

m;a'th&l Aamoun ¢ =2E€ 00 .



solubion-23.

SRIC S

= 11576 = BEas (wq}

oc\"
2

= \T1s716
{lS62S (

2643 >
)= (%
Bacey Ohe anai -Hnﬁn Fowers SLoulcl be E‘iuﬂl n=3
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